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[ Drawing Triangles (7.G.2 Draw)

Using a ruler and protractor/angle ruler, draw and label the triangle with the following properties.

1. AB =2in., ZCAB=45°and AC=1.5in. 2. ZABC=45° /BCA-=45° and BC = 2.5in.

B
N 7.5 wn
)
3. /BCA=60° BC =1.5in.,and AC = 1.5 in: 4. /ABC=50°, /BCA=70° andBC =2in.
A

2 0
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Unique, Not Unique, and Impossible Triangles (7.G.2 Identify)

1. A triangle has sides of 15 and 27. The measurement of the longest side is missing.

Ted says that one possibility for the unknown side length is 50. Do you agree with Ted? Why or why not?

No| be oyt e sum of e two gdnodrer sides Mmust ioe
Lor Yhan Hae \o 5t ade fo fovene e ’\“('\osv\cd\(’,
ond IS+ 2T w» \esy Hrane S5 0D.

2. Atriangle has sides of 5 and 9. The measurement of the longest side is missing.

Ted says that one possibility for the unknown side length is 10. Do you agree with Ted? Why or why not?
Nes, becauye e sum of Hae od gnecker sidey munt be

,,G,—‘-_‘,C\-u Hran e \D(\%\‘\* sl T foen a "\ﬂ'Taw\%\e}
end S5+ s cg«xx\-uf +Hrone \O.

-~ A triangle has sides of 6 and 12. The measurement of the longest side is missing.
I

Ted says that one possibility for the unknown side length is 18. Do you agree with Ted? Why or why not?

No| petawy Yap sum of Fhr oo sipdtor sidey mual be
@(‘w\fﬁx Ao Hae \W%Lg{— side o ‘\:NM o ﬂ‘\amob\(,

o_(\d lﬂ - \Z, = \ % 5
4. Is a triangle with angle measures 40°, 30°, and 120° possible? Explain why or why not.

No, ve cauyt e CLﬂO\Cb N a ‘\\f“\au'\a\{ st add o 180°/.
and 40 +30D + 1O = \9q0.

5. Is a triangle with angle measures 85°, 35°, and 60° possible? Explain why or why not.

Ney, oo caunt e &v\o\)\qs noal ‘\Y"\aﬂj\c mudt add Yo l&D"/
ond IS Y 35 + WO = \F0,

Is a triangle with angle measures 50°, 25°, and 95° possible? Explain why or why not.

No, secauwy e OW\‘G\Q N o ‘H\o«\j\e MUk add o (goe
\ J
and SO+1S+49S = |70,
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Angle Relationships (7.G.5)

For each problem, write and solve an equation to find the value of x. Then, use that value to find the

measure of ZABC. The diagrams are not to scale.

1. x= \%° saBc= 53R +*2= LY 2. x= \A&° 2ABC = 3*5(\“"1\ =9%°
Sx¥3+22 =90 ¢ 2+Sx +%L=1¥D
Skx+LsS A0 5+ %S =180
-5 -1S -%S -8
Sy = ‘og Sx = ‘?S-
25 25 A< @3+ 5x)' [82* D =S +9
R B %= 19
% =\
3. x= \Uio LABC;..bQSQHS:%CP 4, x= \§g° ) ¢ABC = % (D 4-3:43"
D
ox ¥ 5= %7 T
_S —g _.S _g
8 s
| by = Ly = 4O
(6x+ 5 Tos. he_Tb T4 =Y
=\ -
D x x =\0
A
c c
5:. =t 4ABC=_7—_(,‘@*7«‘1: W2 | 6 x=_ 4S° 2ABC =2(uW8)+2\ = 11 °
A e A L 30 | A Jer 402 ¥ =360
D i
™ W x40 = 3O }c’;"‘_?o “_SVD
I‘ -1 “U1v N\ __{2x+21};//-f/' 10 -1.10
%'] 2% = L [-.:3;}';‘"52_#___ —»D Z.,K. = CTD
té(Zx'ZS)‘ —7_.7:.#—:-?'—" 227 +& =L
an e = 4L x =4S
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Opposite Quantities (7.NS.1a)

1. Which of the following describe a situation where the combination results in zero? There may be more
than one correct answer.

)< Alison ran 3.5 miles and burned 450 calories. When she finished she ate a taco that was 425 calories.

-34S0 + H2S #+ O

he chef made 4 dozen pancakes. There were 16 customers that ordered and ate 3 pancakes each.
RO +\6(-3) = O
He + -4y = O
@Julie owes her sister $25. She gives her $17 on Tuesday and $8 on Friday.
25 & ANl =% 2 O

% The Math Magicians are playing Math Fever! They get a 100-point question wrong, a 250-point
question right, and a 350-point question wrong.

—\DO + 250 + =350 # O

X In the desert, the temperature at noon was 112 degrees. Over the course of the next 10 hours, the
" temperature decreased 12 degrees per hour.

WL+ wo-1y + O
W2 +—=120 %+ O

2. Atright is a picture of an atom, and the protons and neutrons that make up the
nucleus. A proton has a charge of +1, while an electron has a charge of —1.
The charge of an atom at rest is zero. The element gold has 79 protons. How
many electrons does it have?

149+ -74 =0

E’( 9 e,\cdfbv_\_&l




Trimester 1 Final Practice Name V.Cb{

cc7 Date _ Period

' Real World Addition and Subtraction (7.NS.1b, 7.NS.1c)

Model the following number sentences using a number line. Find the answer to the number sentence.

1. —44+7=73 2. 3+-9=-L

| il

ol 1 L (1 i L i Il L L P R | N | L 3 L L I = L i i L
o —r T T T e L

- -4 -2 O 2 4 e 3 ~§ -L -4 - O T 4
3. A number line is shown below. The numbers 0 and 1 are marked on the line, as are two other
numbers, @ and b. Assume the number line is drawn to scale.

< | | I [
T 1 | |

1
]

[
T 1 1] 4

b

Y

b 0 1 a
Using the number line above, decide if each answer will be positive, negative, or zero.
a+b= K\COE)O\,Jf\\)L ‘ b+1= f\t’_,%o;\"\ve_
a+—b=_POSTIVC. a+-2= ﬂto:\cc\“\\le;

4. Decide whether each of the following statements is true or false. Give examples to support your choice.
I A. The sum of two negative numbers is always negative.

Awe -2+ -1 =-4

B. The sum of a positive number and a negative number is always negative.

fadse  Vo+-\ =9 S5 4+ -7 =-9
C. The difference of two negative numbers is always negative.

Lalse -2.-—\0 =9 -A-—-5=-U
D. A negative number minus a positive number is always negative.

ue -2 -0 =-\0L
5. Write two absolute value expressions for the distance between the two points on the number line
below. Then, find the value of each expression. \ -} - - L_\\ \ _L\\ Y

?
ERPISIJSPRsTe
ettt \"L‘\——'%\:\L\\:'—\
9 B 7 6 5 4 3 2°1 0
6. For the pair of points below, write and evaluate two absolute value expressions to represent the
distance between the points. Then, make a number line to show the distance between the points.

7 and -3 (4 © —p| 17--3\ = lwl= 10

4 -2 0 2 4 uw % (o \-3~1{={-el =10
Which of the following expressions below are equivalent to —15 + 12? Circle ALL that apply.
A 12415 B. 15+ 12 () -15--12 D. —15-12

il
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Addition and Subtraction of Rational Numbers (7.NS. 1d)

Find each sum or difference. Show work for problems with fractions and decimals.

1L ~8+-11= —\9 2. 12-30= —\Y 3. 16+—4= |72
4, —-15--7= —F 5. —6+-9= —\S 6. -3-5= —Q
7. —4+11= 7] 8, —-6-—-14= B 9. 8+4-15=-—-"]
10. -11.8+26= — 9,7 11. -61-3998= - (O.0A4%
< '‘C.\oo
— Al +2.94%
9.2 \0,049%
12. -58--479= — | O\ 13. 84+-16l= (L, 19
2 \
S.X'0 -'%,4,3{‘0
S T -~ L.\
\.O .19
2 4 \ % 3 1 A N
14.5——2;— %‘é\" 0@ -qn 15 3§+—25— \ o o o
Lo, 22 1k B_-5 .3 ~125 .0
A Y S z O o) s}
a o] Bun == =M= 2l o4 _\3
16. 13+111— 23 17. 36 29— <
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Real World Multiplication and Division (7.NS.2a, 7.NS.2b)

1. Use the distributive property to write an expression equal to each of the following expression.
a. —3(7+-9) b. (-2:--6)—(-2--11)

-2+ —3.-9 -2 (- - - 1)

2. Mark takes 6 friends to play paintball. It costs $10.25 to play and $8.75 to rent the equipment, per
person. Include units with your answer.
a. Using your understanding of the distributive property, write TWO equivalent number sentences (one
factored and one expanded) that would find the total cost for all seven people.

(2S5 + 75)
7-\01S + 1 IS

b. What is the total cost for all seven people? Show your work and include units.

025 9
LS L %122 \
9 00 \‘5:3 \_,_\f———’

3. A football team loses an average of 3 yards per play. How many yards have they lost after 4 plays?
Show your work and include units with your answer.

-3.4% = R"‘ \L u\o\(‘*éSS

2
4. Select ALL values equal to — B

-2 -2 -2 -2 ) 2
A —= (s)-2 c — (p)= @—
9 -9 -9 9 =9

5. Together, siblings Brandon, Brooke, Trent, and Trisha owe their parents $100. How much does each
sibling owe if they share the debt equally? Show your work and include units with your answer.

oo = & = (-S|
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Multiplication and Division of Rational Numbers (7. NS.2¢, 7.NS.2d)

Find each guotient or product. Show work for problems with fractions and decimals.

Trimester 1 Final Practice
Period

cCc7

1. —8:-6=~ 45 _ 3. —12--4= U<
4 2 —=19
4. -15+3= =5 5. 7-—4= —-1% 6. 60+-6= —(0
7. 831:--34= -1%.254 8. -33+4= -0.%2LS 9. ~77--15= |\,55
' 0,.%2S 3
8'3\ O . i ‘,a_,
X 3-"\ ‘-\)3300 Y‘\S
3304 =2 3395
+ 14430 Y L1710
29254 ~z0 \ 55
5. _21__1 13 TN T S - N 1l._r2_ g5
10. 5=+ -3-= g o ‘_qn. 1;-1-= 3 |§_12. 1>+ 52 =
3% . o -5,3 _-\S -3 = =27
L 3 : 4 Z T X = g
3% .3 L-los | o -3 .S .15 _.s
© 1o b “ zZ =& CTEERTY
Find the decimal equivalent. Show your work.
_y _ 0.533%3 5 0.L25
13. /5= 0.5%3 '2)7.0000 1 = —-0.L2S %/S.000
-0 - 4%
10O 20
- Ak -l
10O Ho
sile. Sat)
4O o
~3b
-11 — L - -13 .2
5. —== -3,L A)\w.00 A 16 — = \.LLS R)\3.000
=4 =%
20 SO
8 4%
20 20
_\% e
2 4o
Qo
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Order of Operations (7.NS.3)

Find the value of each expression. Show all steps.

L —12+-2-(4=5) 2 2-6-(-1+12<3)

“115 -2 (1) 2-6 = (-1 + 1)
o ° -\ %_-'—"__\.0 — 5
-3

9

U
>;_>
f\
WY
_l_
{
S
—”
(
)\)
0
oD
N
-1
.
(\)
i
&
}
w

2. (-1)=2 ) =673
-4+ 2 — % =6 - -~
S e
5 _3:1.:_(3';:?_...,_13_21) 6. 3.1-(-2.3—-0.4)—1.083 7.3
PRt 30+ -27 - 1083 220
-3 (% -1 _,2% — 2.7
s “ -2.57 —1.0%3% 2
3L (] - i\ 2.1
o [ X &
=19, (A 1 L2120
“ (0 3 21
B \
o 510
4 L.o%3
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Similar Fiqures Problems (7.G.1 Solve)

Each pair of polygons are similar. Find the missing side length. Show your work to find and use scale factor.

A
1. scale factor £

missing side 1 unily
Ao
2

Y corvespondy
witw % o
SF =t r24=3

35 cmcwc\f\ds
witn W 3o

missing side 20wty (coac 2T
S*Yc*(-\:\'\'hﬂ 25

2. scale factor 2.5

14

3 \/ L\ corrapondy : 3 orreypondy

3 " 21 Wi 7| so § 2 w7 So
[ARE L 7= %25 = 20|

3. scale factor _0O.S \Z cwq?m\ds 4. scale factor _O~% 30 CGN&WNJ

missing side B Wk

witn b o
SF= Lx\170S

Wo (owrespondsy '

wn ?‘
7T \o0:5=%

Sbo

) wire 24, o
missing side L& Wy SF = 24+ 20204

28

ST \S Cowve dy
'W YPM

. witn 7.\ So
S N
HEIning S~ 7=1S0%0

—

5. Afigure has a perimeter of 35 meters and an area of 75 meters>. A larger similar figure is created using a

scale factor of 2.5.

a. What is the perimeter of the larger figure? Show your work.

35 ® LS = Y"HS anedersy |

b. What is the area of the larger figure? Show your work.

IS e 25 =

15 ¢ LTS

Yo% 1S medcr j

6. Afigure has a perimeter of 30 feet and an area of 54 feet’. A smaller similar figure is created using a

scale factor of 0.75.

a. Whatis the perimeter of the smaller figure? Show your work.

30 - 0.8 :ﬁzlg Tl \

"~ b. What is the area of the smaller figure? Show your work.

SN v 0.SL1S :\3@%73 *‘?LLJ

St 05" =
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Making Scale Drawings (7.G.1 Reproduce)

1. Triangle B is sketched below. Triangle Cis similar to Triangle B. The scale
factor from B to Cis 3.25. Draw and label Triangle C on the grid below.

h=He2325 =13
b= 1-2.2S =225
aNE
HR
L == / 1 --Z \\ ] —
JARNIFERN
| = / | | \\
/ ; N
./ : ] \\ =
/1/ ! \‘
N SO M T T Syl S S - + -l . O [ .
e pm ; >\‘ |
/ . N ]
1/ y N\ I
! N
2.5
2. Mug’s Hat and its coordinates are below. Apply
a scale factor of (2.5x, 2.5y) to find the new T 7 ; i
coordinates. Then, plot the coordinates of the 24 i ]
similar figure on the grid at right. 22 ' ‘ :
S 20 HH M
s~ (B I 18 ' |1 L
] | | g D i i | | 1
N c! | | ] | 1 i
1 [ L | L] T L | HEEEN 1
ag 1 P 14 || B - [ L3 ]| f
0 : | ] P14 11 | ' i
01 2 3456 7 8 910 == e T
12 ERENENE i ' |
Mug’s Hat | similar hat 2 i I 11 w
Point |  (x ) (2.5x, 2.5¢) | | v I T '
A | Y 1(0s28) | =

G0 (226 25)
(6, 2) US; SL
63 | (5, 15)
4.3 | (o 15) 1T |

2 | (w.5) O 2 4 6 B 10 12 14 16 18 20 22 24
a0 | (25,29)

NOR OB O

G mim|TIo |
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Area of Composed Figures (7.G.6)

Find the area of the figures below by using the formulas for rectangles and triangles. Show all work.

1 2. Bom
8 oy 1
42 em | 28 oml '
- @ 6om |
(:) Bem
; 9cm S -

2 8em @ 2cem

@ w23 = 22.% .- >
Loyl ) 10.cm
@ z * b % = 7. @ Yo = B\,
A=22% +\2\L =\35.‘-k tml\‘ (& 2 =\1L
A= 2, =!L\'%CM1!
3 4. 2 &
W &
6 @ - T
I 6 3 < 20 |ug S
9 @ @ @ 6 3 @ 34
I IS
= 6— 78
(@ 4+ = SY ®21-¢

(& 4.3=21 @FL'%:%
© b b=3L (© 3-3=19

@ -ee= 2T A= e g

A: SH + 17 +3L + U144 =k\53 um‘v\sll




